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QUESTION 1

Which command, available with all MTAs, is used to list the contents of the MTA\W's mail queue? (Specify ONLY the
command without any path or parameters.)

Correct Answer: mailg, /usr/bin/mailg, sendmail -bp, /usr/sbin/sendmail -bp, /usr/lib/sendmail -bp, sendmail,
lusr/sbin/sendmail, /usr/lib/sendmail

QUESTION 2

When the command echo $ outputs 1, which of the following statements is true?
A. It is the process ID of the echo command.

B. It is the process ID of the current shell.

C. Itis the exit value of the command executed immediately before echo.

D. It is the exit value of the echo command.

Correct Answer: C

QUESTION 3

Given the following routing table:

Kernel TP routing table

Destination Gateway Genmask Flags Metri
0, 1, 05, 0 182.168.178.1 0 5 UG 0
192168 .1.0 0.0.0.0 255,285,255, () U 0
192.168.2.0 192.168.1:1 255285 .2585:1) U 0
192.168.1778.0 B--B.0.0 255.255.255.0 U 9

How would an outgoing packet to the destination 192.168.2.150 be handled?
A. It would be passed to the default router 192.168.178.1 on wlan0.

B. It would be directly transmitted on the device ethO.

C. It would be passed to the default router 255.255.255.0 on ethO.

D. It would be directly transmitted on the device wlan0.

E. It would be passed to the router 192.168.1.1 on ethO.

Correct Answer: E
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QUESTION 4

What is true regarding the file ~/.forward?

A. As it is owned by the MTA and not writable by the user, it must be edited using the editaliases command.
B. After editing ~/.forward the user must run newaliases to make the mail server aware of the changes.

C. Using ~/.forward, root may configure any email address whereas all other users may configure only their own
addresses.

D. When configured correctly, ~/.forward can be used to forward each incoming mail to more than one other recipient.

Correct Answer: D

QUESTION 5

Which of the following is true about IPv6?

A. With IPv6, the TCP port numbers of most services have changed.

B. IPv6 no longer supports broadcast addresses.

C. IPv4 addresses can be used without any change with IPv6.

D. IPv6 no longer supports multicast addresses.

E. For IPv6, UDP and TCP have been replaced by the Rapid Transmission Protocol RTP.

Correct Answer: B
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